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HALF]F:Who is less likely to
suffer from colds?

5% 1% ‘These people are cheerful
and relaxed.

1E i :People/ Those who are
cheerful and relaxed.
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H Y15 1~ :There seems to be a

connection between a country’s rates

of population growth and ___
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55 Rich and poor countries.

1E#f:Its national wealth / how
rich the country is.
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factors that lead to the extinction of
amphibians.

%1% :Acid rain and a chytrid
fungus.

1E #ff :Human interference and
new infectious diseases.
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HAAYF] F-:From the case of the
TV station, we can conclude it is __
that make (s) an organization more

successful.
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social networks.

1EHf:The social networks
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B 7Y 5] 7 :As for P.E.,

some
school boards either __
% 1% :Often put P.E. on the

chopping block,cutting it entirely or
decreasing its,teachers or the days it
is offered (&AH} 10 FBRE)

1EAf:Cut it entirely or decrease
its teachers or time.
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